60 Time(hr)= 480.25
Ocm
Rain| 40cm
(mm/h) 80cm

0

474

6
QOUt / Ucm
(mm/h) E -
A5l 40cn
" Time (hr)
80cm

110

FEOBTRREVIAL—a ) (BRI E— R H)

/N



60 Time(hr)= 482.75 6
Ocm ;
Rain | 40cm Qout g Ocn
(mn/h)| 80cm (mm/h) =
Hil =" g 40cn
0 M . : H o o0 lhom oo 2 o : 2 ;
474 Time (hr) >

110

A

FEOBTRREVIAL— 3y (BRI E—BRRH)



s0 Time
Ocm
(mm/h) 80cm

0

19 wdd ik

(hr)= 485.25

474

~ Time (hr)

FHEOBTREVIAL—ay (EHRE M B — iR

6
Qout Ocm
(mm/h)
40cm
80cm

110

s

/N



60 Time(hr)= 487.75

6
Ocm | 0
Rain| 40cm Qout o
1'_'_“-:”-",-";'---'jf 80cm (mmfh)
il 40cm
0 o allmanly” |
474 Time Chr)
80cm

110

b

FHEOBTREVIAL—ay (EHRE M B — iR



50 Time(hr)= 490.25

6
Ocm
Rain 40cm Qout e
(mm/h) 80cm
40cm
0 Lo gl gl oMo 0
474 Time (hr)
80cm

|2 m
2m

110

FEOBTRREVIAL— 3 (BRI E— R )

/N



